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Q. mA

19h A, B7t H2ad

Lt =]
gt Zoltt. @ ~ @of &5tA] §h2 22

, (A= B)*NA S 7HH3]

(A-BnA=( © )nA

=(® )na

=( ® )u(BnA)

=( @ )u(BnA)

=(©)
® AnB @)AU B ® ANA
@ o ® AnB

=(A°UB)NA
=(A°NA)U(
=2U(BNA)
=ANB

(A-BFNA=(ANB)YNA
)
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Al A A, B, € ol tiste] n(A) = 11, n(B) = 13, n(C) = 10, n(AN
B) =4, n(BUC) =17, AnNC =0 4 ™, AUBUC 9] ¥949]
N0

S n(AUBUC) =24




3. oF FolA FARG vl F REAT A, Bt (AuB)n
(ANB) = B-A°] dH3l7] 915t A, BAFo]o] BA = ?

M)A CB ® A=B ® BcA

@ ANB=0 ® AUB=0

(AUB)N(ANB) = (AUB)-(ANB) = (A-B)U (B-A)
=B-A
. A-B=9 — ACB




4.

AARF U 9 F F A,
(A= B)U (B —A) 2 HoJgh o,

@A @B ® ANB @ AuB (G A-B

~&B

AxB=(A-B)U (B —A)
=(ANB)U(B°NA°) o|lB&2
(AxB)x A
= {(AnB)U (B nA)} - A°]
U[A°-{(ANB)U (AN B)}]
=[{(AnB)U(AUB)} NnA]
U[A*n{(AnB)Nn(AUB)}]
=[{(AnB)nA} U{AN(AUB)}]
U[{A°N(ANB)} n(AUB)]
=[(ANB)U{ANA*NBYNU[{AU(ANB)} N (AUB)
=(AnB)U{A°N(AUB)}
=(AnB)U{(A°NA)U(A°NB)}
=(ANB)U(A°NB)=(AUA°)NB=B




AAQAT U = {(x|x<1009 A} o] Al REA A4 =
{x|x= 49 ¥i=), B = (x| x= 59 i), € = (x| x= 69 v}

o thste] n((A°N B)U (A - C)) & F5}tolgt.

B-~C

A°NB=B-A°|E=

(B-A)N(A-C) =02

~n((A°NB)U(A-C)) =n(A°NB)+n(A-C)

n(A°NB) =n(B-A) =n(B)—n(BNA)
=20-5=15

n(A-C) =n(A)-n(ANC) = 25-8 = 17

L1654+ 17 =32
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k< b2 A%} ol hotel 4B 2 08 A4 a, b9 AR BLI
(%, [ = v 8 WA ok 20 A%)
® 7 @ 8 3)9 @ 10 ® 11

k:17 23 39 e ?——'_]lm,
el % ot |94] o are gotum,

k} :1,3,5,7,9,10 ---

|© ol ©o

E
ANB#o ol HHHa>5, b>4
a, b O] &gkl 329

k} :2,4,6,9, 11, ---




7. AR A, = {dr<x<6n+5 n D%} o Bstel S(n) = A, n
Ayn---N A, o2k HEIFITE n(S (n) = 1S THEate n o] HZHS
Fatolet

> =

> =l 10

AL ={xl <x<11},

Ay = {x2 < x < 17},
Az = {x3 < x <23},

Aqp = {x]10 < x < 65},
A = {11 <x < 71},
wW2bA n > 11 0] H9H n(S(n) =0 °] HEZ »n o] HAZEE 10




{x1x<100,x= AA5} o] REAF A 7 o5 20S

g s =
W5 0 4 9 Yx F VY 2 58 Fofoler,

PhdeA, 5eA
hpeA geAOlHp+qgeA

=
=
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.11

B
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4,5 EJF A Y2t S+ AL FES
4, 5, 8,9, 10, 12, 13, 14, 15, 16, ---
webA Ac = {1,2,3,6,7,11} ©]1,

A oA 71 2 94 11 ot}




9.

d&d A = {xke20EtF2299H%} B =

{xlxi= 20E T 22 4] v} 7} Qi

olml, X-A =2, XnB =0 & WEHoh= e X 9 |55 Fotofet
= 4l

>
> HEb 327

B ~

A = {xei= 20E T 22 29] Hj%=} =
{2,4,6,8,10,12,14, 16, 18}

B = {xlxt= 20E 0} 2r-2 4°] v} = (4,8,12,16)
X-A=0=XCA,XNB=0 > A% x = U2 4,8,12,16
2 WtEA] L &o}7] =t}

kA et X & A= 2974 = 32 (7H)




10.

Ha=1¢%
(A-B)U(B-A)={2,5}°]22 A< B,
(B-C)U(C-B)={1,2,3,5,6,8°|22 B< C

2)a=2¢ o
(A-B)U(B-A)=({1,5} °|E2 A< B,
B-C)U(C-B)=1{3,5,6,8 °|22 B<C

3)ax>6Y A%

(A-B)U (B-A) = {1,2,5,a} ?| B& 4 9] gl A Glo|
A< B, (B-C)U(C-B) = {2,3,5,6,a,8 == {2,3,5,6)
T={2,3,5,8)°|B= a9 gkoll HAglol B<C

wEtA g= 1 B 20|t}




